American Coding and Marking Ink Co.

INCORPORATED

QUALITY I 1220 NORTH AVENUE
M PLAINFIELD, NJ 07062
AC Phone: 908-756-0373 Fax: 908-756-0570
INKS Web Site: www.trecoder.com

Email: customer@trecoder.com

TRECODER® SPOT GUN

.TSGOE
.TSGO:
.TSGO:-
TSG02 TSGOt S608
g S22V .TSG09
i“--‘. TSG21
* = 1] }
TSG2: 8 S Sy :
_ \&L, > 4‘\\\\\'1-' TSGO'
- i L= = N TSGA(
.TSGO: - ; Assemblybolt. Do notremove
Parts List TSG13
Ref. #  Description
TSGO1 Jet Discharge Nozzle TSGT' \
.TSGO02 Discharge Tube y .TSG1:
.TSG03 7/8” Trigger Pivot Bolt 2 TSG11
TSG04 Trigger f ;
.TSGO05 7/8” Handle Bolt { L
.TSG1¢
TSGO6 3/4” Piston Rod Bolt \ Egij;
.TSG07 5/8” Handle Bolt ‘I
.TSGO8 Piston Rod Cap h
.TSG09 Cylinder Cap :
.TSG10 5/16” Piston Seal = g (0 4 .
TISG11 3/4” Piston Ring &= \_-'... al ] TSGO;

.TSG12 Piston \_'1',#:'."
.TSG13 Cylinder
.TSG14L Handle-Left
.TSG14R Handle-Right
.TSG15 Foot Valve
.TSG16 Screen
.TSG17 Ball Valve I L
.TSG18 Ball Valve Spring ; TSGI!
.TSG19 Piston Spring

.TSG20 Suction Tube

.TSG21 Cylinder Cap Gasket

.TSG22 Reversible Nozzle (Special Order)
.TSG23 Container Gasket

.TSG2:

.TSG1¢


SHIP1
Typewritten Text
.TSG22

SHIP1
Typewritten Text
.TSG01

SHIP1
Typewritten Text
.TSG02

SHIP1
Typewritten Text
.TSG03

SHIP1
Typewritten Text
.TSG04

SHIP1
Typewritten Text
.TSG05

SHIP1
Typewritten Text
.TSG06

SHIP1
Typewritten Text
.TSG08

SHIP1
Typewritten Text

SHIP1
Typewritten Text
.TSG09

SHIP1
Typewritten Text
.TSG21

SHIP1
Typewritten Text
.TSG07

SHIP1
Typewritten Text
.TSG10

SHIP1
Typewritten Text
Assembly bolt. Do not remove.

SHIP1
Typewritten Text
.TSG13

SHIP1
Typewritten Text
.TSG12

SHIP1
Typewritten Text
.TSG11

SHIP1
Typewritten Text
.TSG14L
.TSG14R

SHIP1
Typewritten Text
.TSG07

SHIP1
Typewritten Text
.TSG07

SHIP1
Typewritten Text
.TSG17

SHIP1
Typewritten Text
.TSG19

SHIP1
Typewritten Text
.TSG18

SHIP1
Typewritten Text
.TSG20

SHIP1
Typewritten Text
.TSG23

SHIP1
Typewritten Text
.TSG15

SHIP1
Typewritten Text
.TSG18

SHIP1
Typewritten Text
.TSG17

SHIP1
Typewritten Text
.TSG16




